B>A: (The trees in the rainforest affect the amount of greenhouse gases by influencing the carbon cycle)

The Amazon forest canopy is so dense and so biologically productive that scientists have also recognized the region as a key component of the global carbon cycle. The continent-spanning tracts of forest inhale tons of carbon dioxide during photosynthesis and exhale oxygen. With respect to carbon, however, these forests aren’t all take. Through deforestation, decomposition, respiration, and export of organic and inorganic matter to the oceans, they also give. (EO-1).
E>A: (Deforestation decreases the rainforest canopy resulting in an increase in the amount of greenhouse gases in the atmosphere) 
The dense vegetation of the rainforest canopy is a sink for atmospheric carbon dioxide (EO-1).
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